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NorE: Question No. I is compursory_. Attempt any TWo questions from remaining
Quesfions.

Question # l: serect the right answer cutting and ovenrvriting is not ailowed. (2x5=10)

f) Wlrt I tic cerdlnrlity of tle rct of odd polttve trt4on lc., trru f0?
a) l0
b)s
c)3
d) 20

2) Tleoavcrreof condithulrtrtcmcutp .+ C&_--Ia, q +p b)-.,s --,p ' -;i-jEiE-q d)Nwofrhcsc
3) WLef lr ttc Certcrirn product of A - {l, 2] ud B - {r, b}?

1) (t, aI (1, b), (2, a), O, b))
b) (1, l), (a 2), (8, a), (b, U)i
c) (1, a), (2' a), (1, b), (2, b))
O {(1, l), (a, a), (2, a), (1, b))

d) Slg{} crdr tG of tunction {n}16il+&r fu:

4 0(o b)o(3o c)o(d) d)o(led)

Q A conpleb graph (urdircddlwiti 4 vcrtlccr Lr edgef?a)4

Querdon #2

b)5 c)6 d)7

[10 + tol
ef Glv. E big€ estknate fot f (nJtld+tatq,af g+g
b) Rove by 'aslbsrnatic€l ioduction &ar 4! - l is divisibrc by 3, for intcgcrs n > l.

Quortion f 3 lfG{0l
r) Prove by tnlh tablcs tha -r(r{ er g) ce (r ,4 v rg ) a (Av B)
b) Giva&o adjaoencymati*

Draw its corresponding grapL

Quedoa#4
[10 + 101

e) DrrwVc,Cr,Ik
b) Girc a prooftryconhadictioa thar if x is a rdionar nrmbcr and y an imtiomat

numbcr, tten x+ y is inationat,

I0 111
e=lr o rlhrrl
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IVorE; euesfion Alo. 5 is compursory. Attempt.any TWo guestions from remaining

Question # 5: Fill in the blanks with appropriate answer' (5x2=10)

(10+{0)

1. Docoda ie a ---- clrcult'

2. firrimplifdraqlstr6ffdfaffaPanyis
i. f.SU U" ti* inptrt for rcquirod tL,l'ge of ttdot ir c'ltod--"-'-'
4, oR rqister ls named as --'
5' To lmplement +ltt counter uslng D flip ffop 

-numbers 

of flip f,op requlrcd'

Question#6: - 
(f0+t0)

r) Design ode conv€rter clrcult thal accepts lnput as baess'3 code and 8enefittes output

ln.}*2fcode.
b| simpllff the tunction ln SoP usl6 Boolean Al8ebr6'

F(A,B,C) = AB'C+I'BC+(BC+ABC

Question # 7:

a) Desbn a 3-bit majority cirqit.
ti ffi6 fru eaa.i g;r"ui1r'sing HalfAdder and some ofirs g8t€s'

Question # 8: 
(10+10)

a}Thecont€ntofPCinthebaskcomputertsABcThecontentofMemoryataddressABcb2DEF.
&eJeateai,-af-memory,*.ddless qfF lc oE ThAcorteni-of memong at addrcss ECA ls ABCD'

w]itedownthen.meofth€instrucdonthatwillbeexecutednet?GlwtheoontentsofregisteE
PC, l& DR, AC at the end of tte execution of thls instruction'

b) DesiSn 8x3 EncoderCircuil
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PART - I
(oBJECT ORTENTED PROGRAMMTNG)

NOTE: Attempt any THREE out of FOIJR questions while Quesfion No.l is Compulsory.

(ix{-.a0)

(16)

Oupstiop # 3: (16)

QnqiE f.l: Girr Fcoiso and short rux,pcr of foilloruirg wi& axaqilc*:

!) Ilow cucafsrdrtim is rcfrieirod iei$lt lryrleSc?
2) Il'eil b di:trwrpe hctilucn hrgHnditrgaed ctrly bfuding?
3) , .Wrih&qrlmr& rrod fu wqdou hnilfiqg h jrw.
4) ltlh fu ditrcrcum bdnpco pirJry d mrorJn
f) -UthlfFfuflMiqg? Horr it is 60Lbtcd inlarm rrrrgrmgs?

qnqipq#2:

Dt.ffry e olssmployoc havins dde mcmbcfs r cmp*co&, doft*coilc, rye, hsb, D,q,,.IIA,A
sd tkse mambcr firetionr u get&b$, putdaag, o*ifrtatssitry$d e.i.Anl* all.e t"lr*
of dan memb€rs and cskutar$ ths bsl sahry bt,-addhg bas&, biify Alilrr3}gB(D}At rio,*
net Allormnro (Ifr,A). lvrie this progran ftr ifrtcoil&rytoyux.uriog ao a$ry oi*,1ur,6.

e) Nrmc AtL msnbs ftrctims of all classcs tbd aroffim &moue *templ','tpmp2" 
frtrd

"tcmp 3'in th main fimcilion
b) WhBt cftaryGs nord to do for appty fiection oryeniding?
a) Writc t vifiral firwtion void shos0 in olas X ed orrsridc this fi&ctiotr in clssf; y ard

clag32.

d) WritG mda for oalling firetionvoid *os$ of,class y.

ftrytipp#.* (1q
Ilftito a C++ pogrsm to cra& thrc6 sfiing objacts wi& rahrcs: KINO, U&{AN, SIEXKIT
Now, c@ fu into ons sfiing 0bj00t rg "IfiNG SIIHXII USlr{AN, rryin$

o) Amcndfimcfion
b) + arsrdtr
c) Call + opwrlm in mrin firudon &nabmrcmfimod m$o
d) WriE qrffin fon wcrlordinguniryt opcrf,ror.
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PART - II

(DATA STRUCTURE AND ALGORITHM)

NOTE: Attempt any THREE out of FOUR questions'

Orestipq # 5;
(16)

writo I pqgrtB em inil@tionoftfop slnelc linhd,lis with t$ro poidEf hd id nln€il1

Add folloudng mennbc fimctiom in ihis class

a) Add finstion thar adds fu ctcmcnts in &c tinL lrs fu d€md skuld bo sdd d &c ed of

lint list; votd add(lnt x)
b) Writc Bsycmc g figp6on &rt uscs a mrc,h obicct to triil & dsmffi of tirlrtis in mrcrsg

ordor.

Norc: Asrums &c implemc,utrtion of shrl cbs$ $ith *ry ftm$ion px(x), r4, m'
i#mfiO rodisftflCir

Omsion*.S;
(1q

CoE rcrt fu folbttitrg infi,x olgsssim to frgfir ed po$fix rmtion .ShYr,fu psrcs !1t

uniting all6c sps using stack

Infix orpression (A / S t C) * (f - A) * C)

Ss#ipn# ?:

Write ee pssudopodcl C+r co& ro build a lvfa:r Ih ad apply es dgsithm sm tbc given

array. Shorv tbc *atrs oftho rrey W dmwi[g th haap nftsr mh iteration or rsmsive call

Ouestiog# 8:
(16)

Sort&efollowingarrayusiqginscrtimstrt S&owtrcpaomsbyuritingdltbsitpsasfollotr:
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No. in words.lll (Writing Workshop + -i--- '--'-" ---'
Business and Technical Communication) Time:30 Min. Marks:20'...................\

Aftempt this Paper on this Question Sheet onlv.
D'ifiii6i-96-arks is oiven in front of each ouestion. 'r.signature of supdt':

This Paoer will be collected back after expiry of time limit mentioned above. '\\\\

Q.1.
Supply the correct form of the verbs given in parenthesis in the following sentences. (Sxl=5)

i, Marglrct hrs trot to work yosterday. Shc wasn't feeling well. (go)
ii. Look! That man ovcr thcre is 

-- 
thc same swcater as you. (wear)

iii, Your son is much taller rhan whcn I hst 

-_ 

him. (see)

iv. I still donl hmw what to do. I did nor _ yer. (dcciding)
v. I wonder why Jim is so nice to me today. (be)

Q.2. Answer the following questions.

i. What is meant by Paralinguistic / language?

(5+5+5)

ii. Describe different kinds of informative speaking.

iii. Define Proxemics.
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Time: 2 Hrs. & 30 Min. Marks: 80

Note: Attempt any FOIhR Quesfions. Att Questions carry equal marks.

Q& DEfine coruntrnication and thc components of communication in detail. (20)

Q.4, Discuss in dsail that how would you cater the differcnt needs of your audience while

marketing thruugh communication. (20)

QS. Discuss barrien to effwtive communication in detail. (20)

Q.6. Being a HR Manager of your company, write a mcmo to yotu subordinate to send you

the list of short listcd candidatss for an I.T manager's post . (20)

Q.7, Discuss ths verbol and non-veihl communication in detail. (20)

q.It rlfUrs{E essry onOSIE+Sthr fo}lorring*epieroPabout (ZS&3OOfqrunOn (20f

a) Science and Ara b) Waron Tenor
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lV (lntroduction to lnformation Technology +
Advanced Computer programming)

Q.l. Select the Correct option against each of the following. (5x2=10)I Sembduror rnemory dabe ln wtld' storcd d.ta wl, nmaan perfirnailV*a,C as to,. asporer 15 sttppllcd b
A dynmk mcmory deyle
A sbrage delde

2. Computrrwordizi rlmuftrptU
A. 16 hrs

& 4btB
3. ln @mput r terminology, OCR sbnds ftr

A" Opthal Chrracter Reader

A" RAM

& RWM

A" stor.ge darhe
B. output dalce

(A) HT[4r
(B) PHp

2 llTM[ ls an abbrwla{on for?
(A) HlTech MerDhgtul t nguate
{Bl Hyperlext ineantngfuI Larguage
I 

- 

b a device from where the lrtformadon b sent

3 IAN ls an abbrwhdon for?
(A) bE Aeess Net{ro.t
(8) LocalAess itctuo*

B. OptlcalCard Reader D. Online Computer RetrievaliL rype ol comB ter memory ln r*rldr acc6s dm€ ts not constant hn vadcr depcndlng on Eddress
locatlon b knwn as

..Roll No, in Words.

Time: 30 Min. Marks: 20

5. Device that takes data from user and oonvcn k rnto hrmthat can be €as y undersbndatre bycomputer ts

C. ffash devlce

D. sta0c m€mory dwlc.

C 1o24btts

D. lobtts

C Offie Cash Receiver

C ROM

D. &\A.l

C lnputdeb
D, polntlrts devle

(C! targa Area t{etrrork
(Dl localArea iletwo*

.Qignature of Supdl:

(5x2=10)Q.2. Select the correct option against each of the following.t lhe maJor hrguagc d World wlde Web b
{clASP.NET
(D) Javr

{C} Hired Madup tanguage
{D) HyporT€rt Ma.tup t ruuago

(A) Tr.nrmlBer
(B)spre.dsheet (oslmulrton

4=-tra marhrmattc.l moder of a rearsystcn rn,h",ffi; program.
(A) Transmltter (C) Stm{laoon(Blspre.dsheet 

{D} Moduhrron
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Time: 2 Hrs.30 Min. Marks: 80

Note: Attempt TWO Questions from each paft. All Questions carry equal marks'

(20)
Q.3.

a. Describe rny 5 elements/tags from HTML

b. Wrlte down tfte adrantages qf ,evaScilpt tanguage'

Q.4.
etcribe the follondng terms:

a. Central Proccsslq Unit
&;--lnPutantorrtputfuCc
G MhrosoftO'ffice
d. Arttfldal lntelllgence

[5rI c10l

Eol

(20)

Q.5. .r-L- -. - 
(20)

lllrite an a[ortthm and fhr drart that e* user fur r dtscrct0 numbor n, lf the number ls

poelttvettren rdmiB;bbupto Flriltiple drofum4odrenrEeastfortnprtagEln untllvott Settta

requlred lnPtor&

PART 2: Advance Gomputer Proqramminq

Q.6. (20)

Wrtte a program whkh asls user to sntrr a sentene. Count the total number of spaces ln the

lnput.

Q.7. (20)

create a uniwrsru dasc with datr member r3 ramt and locatlon. lt shEuu also hane two

memberfunctlon*
a, getlnfo(), whlch allovrs tlre u$er b onter name end locatlon of the untversity and store lt tn ths

' o$ect
b. charlnfdl, which dBPlap the universlty lnfiormatlon on console.

Q.8. _--r ^- 
(20)

M.k" an abstract class Book with a ttlo data member. Make a dehuk onsfuclor and an abstnd

fuflcfion to set fitk. you hauc to creats another dars that a(tends the aHraqt dass. lm$menr the set

thle abitfitct metttod ln thts lnherlEd clasc, Now ln maln, create an instane of tlre new ds$ to t€t the

tide Aken from user and print aeordingly'
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V (Data Communication and Computer Networks +
lnternet Architocture and Protocols) Time: 30 Min.

Roll No. in Fig. .....'.....'...'.....

'..Roll No. in Words.

Aftempt this Paper on this Questlon Qheet gnlv. "..;;;;il;;;i6riat.,Divislon of marks is qiven in front of each ouestion. -\-'--'-
This Paper will be collected back after expirv of time limit mentioned above.

Q.1.(a) Write your selected option (True / False) only on your answer sheet against each
of the following. (10x1=10)

1

2

3

4

t

5

7

TCP is the Nctwort layer protocol used ontbe intemet today

TCP portion ofTCPAP performs linking to the applicatioo layer
The latestof IP VPs 7, which iacrease ttre addrex spoca from 128 bits to
2s5 bits True / False

The standad port number for the Telnet is 53, Tnr I False

-sconeldoal€as rcrrbg rt up a.TCP connootiory o*'vi*na[eirouit$onveen'*-
sender and roeiver True / Fslse

TCP/IP opcate only as connoction oriented . True / False.

Tk daa link layer is genorally eocoded in a rctwork cord by the ced's

Tnre I False

True / False

Truc /False

(5x2=10)

Maoufrctned. True/False
s t4.23J2A.8 address lies inthe class A Tnre / False

9 \tr/c considerthe TCP/IP aditocfire to be a sevcu-laycmodeL ofwhich tbe

top eree layers (applicatiott tsnsport, ard intcmet) arc most common in tbe True l False

Inlemet
10 Nod€-tHmds commuoicatian betwecn two dircctly connec'ted devic€s is

handled by lhe data li* hyer.

(b) Answer the following short questions.

1, oefineoNs?

Oraqe the followlng lPu4 address l(lll(Ul 0000t0l1 000q(}ll 111011!1 from binary

lot tbat&dolte+decimal notadons,

Find the enor, of any in tlii'following lPv4 .ddress

a) 111.s6.Ots.78 b)221.34.7E.20 c!75.4s.301.14 d,111{X}10'23.14.6,

4. list some WAN technologhs.

5. Define CBT protocol?

2.
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Time: 2 Hrs, & 30 Min. Marks: 80

Note: Attempt TWO Questions from each section, Att Quesfions carry equal marks.

Q.2.
A. What are different types of Guided and unguided media? Give details'

B. What is moant by terms addressing and naming in computer Networks

Q.3.
A. Whot is difrerenco between Baseband and Broadband Transmission?

B. Wrirc a notc on TDM and WDM

Q.4.
A. Discuss &e architecture of TCP/IP Model

B. Explain the working of cable modems.

(10+10=20)

Q.5.
A. Explain the layer 2 potocol in detail.

B. Explain the various athibutes present in TCP beader'

Q.6.
A. Differentia& b/wlPv4 & IPv6

B. Differentiate Uw CSMA/CD & CSMA/CA?

Q.7.
A- Whst is difference b/w link stato and distance vector routing protocols?

Exploin any of those ia detail'

B. An ISP is gran:ed a block ofaddresses starting with 190.100.0.0. the ISP necds

to distibutd crcsc addresses ro thrBe branches including main branoh. Give the

netwoik address broadcasting address effective range of each branch'

(10+10=20)

('10+10=20)

(10+10=20)

('t0+10=20)

(10+10=20)

SECTION 1 : oataCommunication and Computer Networks

SECITOil 2 ; lnternet Architecture and Protocols
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NOTE: euestion No. 1 is computsory. Attempt any TWO guestions from rest of the
section.

Question 1: (Marks 5 x 2=10)
l" What is QualitY Assuranse?

2. Write down the formula to calculate "cyclometic complexity".

3. Why Risk Analysis is important in Software Engineering?

4. ..So ware does not wear out but is can deteriorate'. Explain with example?

5. Differontiate .oEvent" with respect to "state fransition diagram"

Question 2: (Marks 20)
Disc.uss waterfall Model wittr suitablo diagrsm. Give its merits and demsrits?

Question 3: (Marks 20)

lVhat is human Computer Intcrfaca? lVhy it is important? Itron'itbenefits in Soffn'aro Design?

Question 4: (Marks 20)
Explain the mcthod in detail to calculate projoct cost by using @COMO.

Question 5: (Marks 5 x 2=10)

l. Explain SafiingmanagemcntPlan

7. Write two mles of project msnager.

3. WhatisWBS.

4. What sr€ Softrrarc auafry Str$dards?

5. Name trro tochnique of Cost Estimating'

Question 6: (Marks 20)
\lVhat ore rnain proccss involved in project scopc rurnagemmCI Explain in defiil'

Question 7: (Marks 20)
Explain prsjeot Monitoring snd conmlling in detait

Question 8: (Marks 20)

E:rplain et least three techniques of conflict rssolution and how proie.st tnana.ger implements them'

SECTION 1 : Software Engineering

SECTTON 2 : Proiect Management

NOTE: Question[o g is compulsory. Aftempt any TWO guestions from rest of the
section.


